

NAME: AKASH NARASIMHAKA

MATRIC NO: 18ENG06009

DEPT: MECH ENL

COURSE: ENG 381

Assignment V.

Q

$$\frac{dy}{dt} + 3y = e^{-2t}$$

$$t=0, y=2$$

$$y(s) - y(0) - 3ys = \frac{1}{s+2}$$

$$y(s) (s+3) + 2 = \frac{1}{s+2}$$

$$y(s) (s+3) = \frac{1}{s+2} + 1$$

$$y(s) (s+3) = \frac{1+2s+2}{s+2}$$

$$y(s) = \frac{2s+5}{(s+2)(s+3)}$$

$$L^{-1} \left[\frac{2s+5}{(s+2)(s+3)} \right] = y(x)$$

$$y(x) = \frac{2s+5}{(s+2)(s+3)} = \frac{A}{s+2} + \frac{B}{s+3}$$

$$\frac{2s+5}{(s+2)(s+3)} = \frac{A(s+3) + B(s+2)}{(s+2)(s+3)}$$

$$2s+5 = A(s+3) + B(s+2)$$

$$\text{When } s = -2$$

$$-y + 3 = Ae^{10} \therefore A = 1$$

$$A = 1$$

$$\text{When } s = -3$$

$$-6 + 3 = Ae^{10} + B(-1)$$

$$-3 = -B$$

$$B = 3$$

$$y(x) = L^{-1} \left[\frac{1}{s+2} + \frac{3}{s+3} \right]$$

$$y(x) = e^{-2x} + 3e^{-3x}$$

2) $3 \frac{dy}{dt} - 6y = \sin 2t$

$$\text{at } t=0, y=1$$

$$3(y(s) - y(0)) - 6ys = \frac{2}{s^2+4}$$

$$3ys(s) - 3y(0) - 6ys = \frac{2}{s^2+4}$$

$$3y(s)(s-2) - 3 = \frac{2}{s^2+4}$$

$$3y(s)(s-2) = \frac{2}{s^2+4} + 3$$

$$= 2 \frac{3s^2 + 12}{s^2 + 4}$$

$$y(s) = \mathcal{L}^{-1} \left[\frac{13}{4} \times \frac{1}{s} + \frac{1}{35} \times \frac{1}{s^2 + 4} \right]$$

$$y(s) = \frac{3s^2 + 12}{s^2 + 4} = \frac{3s^2 + 12}{(3s-2)(s^2+4)}$$

$$\frac{\frac{1}{35} \times \frac{1}{s} - \frac{1}{6}}{s^2 + 4}$$

$$y(s) = \mathcal{L}^{-1} \left[\frac{3s^2 + 12}{(3s-2)(s^2+4)} \right]$$

$$= \mathcal{L}^{-1} \left[\frac{13}{12} \times \frac{1}{s-2} - \frac{1}{12} \times \frac{1}{s^2+4} \right]$$

$$= \mathcal{L}^{-1} \left[\frac{A}{3s-2} + \frac{Bs+C}{s^2+4} \right]$$

$$= \frac{1}{6} \times \frac{1}{s^2+4}$$

$$3s^2 + 12 = A(3s+4) + (Bs+C)(3s-2)$$

$$= \mathcal{L}^{-1} \left[\frac{13}{12} \times \frac{1}{s-2} \right] + \mathcal{L}^{-1} \left[\frac{-1}{12} \times \frac{1}{s^2+4} \right]$$

at $s=2$

$$12 + 12 = A(8) + (Bs+C)(6)$$

$$24 = 8A \quad A = \frac{13}{4}$$

Using the method of coefficients

comparing coefficients

$$= \frac{13}{12} e^{2t} - \frac{1}{12} \cos 2t - \frac{1}{12} \sin 2t$$

$$3 = A + B \quad \text{--- (1)}$$

$$3 = \frac{13}{4} + B$$

$$3B = 3 - \frac{13}{4}$$

3)

$$\frac{dy}{dt} - y = f$$

at $t=0, y=2$

$$3B = \frac{12-13}{4}$$

$$5y(s) - y(s) - y'(s) = \frac{8}{s}$$

$$3B = -\frac{1}{4} \quad B = -\frac{1}{12}$$

$$5y(s) - 2 - 4y(s) = \frac{8}{s}$$

$$14 = 4A + B$$

$$y_6(s-4) = \frac{8}{s} + 2$$

$$14 = 4 + 13 - 6C$$

$$y_8(s-4) = \frac{8-2s}{s}$$

$$14 = 13 - 6C$$

$$y(s) = \frac{8+2s}{s(s-4)}$$

$$1 = -6C$$

$$C = -\frac{1}{6}$$

$$y(s) = \mathcal{L}^{-1} \left[\frac{8+2s}{s(s-4)} \right] = \mathcal{L}^{-1} \left[\frac{A}{s} + \frac{B}{s-4} \right]$$

$$\frac{6s+25}{s(s-4)} = \frac{A(s-4) + B(s)}{s(s-4)}$$

$$6s+25 = A(s-4) + B(s)$$

$$\text{when } s=4$$

$$8+25 = A(0) + B(4)$$

$$16 = 4B$$

$$B=4$$

$$\text{when } s=0$$

$$8 = -4A + 0$$

$$-4A = -8$$

$$A = -2$$

$$y_{\text{particular}} = L^{-1} \left[\frac{-2}{s} + \frac{4}{s-4} \right]$$

$$y = -2 + 4e^{4t}$$

$$4) \frac{d^2y}{dx^2} - 2\frac{dy}{dx} + 5y = e^{2x}$$

$$S^2y(s) - 5y(0) - y'(0) - 2(5y(s))$$

$$-y(0) + 5y(s) = \frac{1}{s-2}$$

$$\text{at } t=0, y=2, y'=1$$

$$S^2y(s) - 5(2) - 1 - 2(5y(s) - 2)$$

$$+ 5y(s)$$

$$S^2y(s) - 25 - 1 - 25y(s) + 4 +$$

$$5y(s)$$

$$S^2y(s) - 25y(s) + 5y(s) - 25 + 4 = \frac{1}{s-2}$$

$$y(s) (S^2 - 25 + 5) - 25 + 4 = \frac{1}{s-2}$$

$$y(s) (S^2 - 20 + 5) = \frac{1}{s-2} + 21$$

$$y(s) = \frac{1 - 25(S-2) - 3(S-2)}{s-2} = \frac{1}{s-2} - \frac{6^2 - 25(1)}{s-2}$$

$$y(s) = \frac{1 - 25 + 4S - 3S + 6}{s-2} = \frac{1}{s-2} - \frac{25(1)}{s-2}$$

$$y(s) = \frac{2S^2 - 18 + 1}{(S-2)(S^2 - 25 + 5)}$$

$$y(s) = \frac{2S^2 - 18 + 1}{(S-2)(S^2 - 25 + 5)} = \frac{A+B}{S-2} + \frac{C}{S^2 - 25 + 5}$$

$$2S^2 - 18 + 1 = A + B(S-2) + C(S^2 - 25 + 5)$$

$$2S^2 + 18 + 1 = AS + BS^2 - 2A - 2BS + CS^2 - 25C$$

Comparing coefficients

$$S^2: B+C = 2-1 \quad B=2-C$$

$$S: A-2B-2C = -1-2$$

$$C: -2A + 5C = 7-3$$

$$A - 2(2-C) - 2C = -1$$

$$A - 4 + 2C - 2C = -1$$

$$A - 4 = -1$$

$$A = -3$$

$$-2(-3) + 5C = 7$$

$Sc = 7-6$

$Sc = 1$

$C = 1/5$

$B = 2 - 1/3 = 5/3$

$y(s) = \frac{-3}{s^2-2s+5} + \frac{9/5s}{s^2-2s+5} + \frac{1/5}{s-2}$

$y(s) = \frac{-3}{(s-1)^2+4} + \frac{9/5}{(s-1)^2+4} + \frac{1/5}{s-2}$

$y(s) = \frac{1}{\sqrt{2}} \left[\frac{2}{(s-1)^2+4} \right] + \frac{9}{5} \left(\frac{s-1}{(s-1)^2+4} \right)$

$\left[\frac{1 \times 2/2}{(s-1)^2+4} \right] + \frac{1/5}{s-2}$

$y = \frac{-3}{2} e^{t} \sin 2t + \frac{9}{8} [e^{t} \cos 2t$

$+ \frac{1}{2} e^{t} \sin 2t] + \frac{1}{8} e^{2t}$

1) $\frac{d^2y}{dx^2} - 6 \frac{dy}{dx} + 8y = e^{3t}$

$t=0, y=0, y'=2$

$s^2y(s) - sy(0) - y'(0) - 6y(s) - 6y(s)$

$8y(s) - y(0) + 8y(s) = \frac{1}{s-3}$

$8y(s) - 2 - 6sy(s) + 8y(s) = \frac{1}{s-3}$

$y(s) = \frac{(s^2-6s+8) - 2}{s-3} = \frac{1}{s-3}$

$y(s) = \frac{1}{s-3} + 2 \cdot \frac{1}{(s^2-6s+8)}$

$y(s) = \frac{1+2(s-3)}{s-3} = \frac{1}{s-3} + \frac{2(s-3)}{(s-4)(s-2)}$

$y(s) = \frac{2s-4}{(s-3)(s-4)(s-2)} = \frac{A}{s-3} + \frac{B}{s-4} + \frac{C}{s-2}$

$2s-4 = A(s-4)(s-2) + B(s-3)(s-2) + C(s-3)(s-4)$

at $s=4$
 $8-5 = B(4-3)(4-2)$
 $3 = B \cdot 2$

at $s=2$
 $4-5 = C(2-3)(2-4)$
 $-1 = 2C$
 $C = -1/2$

at $s=3$
 $6-5 = A(3-4)(3-2)$
 $1 = -A$ $A = -1$

$\therefore y(s) = \frac{-1}{s-3} + \frac{3/2}{s-4} - \frac{1/2}{s-2}$

$y = -e^{3t} + \frac{3}{2} e^{4t} - \frac{1}{2} e^{2t}$